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do not fluctuate sufficiently over the business

cycle . Formally : elasticity of tightness
with respect to productivity ( EI ) is much

too small in calibrated creation of model
Z

=
O : EF = O

Z = o . h : E Oa = 2/3
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Diagnostic Wages are too flexible : absorb too
much of productivity fluctuations .

→ Shimer ( 2005 )

Sa Replace wage function to obtain

more rigid wages .
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all unemployment is frictional
• if matching frictions disappear , all

unemployment disappears
• if workers search infinitely hard

→ unemployment disappears
• if recruiting is costless →

unemployment disappears
→ dos not allow for queues of

workers in bad
times .

Diagnostic No lack of jobs : all workers

absorbed if no frictions
solution. . Introduce a

proper , downward - sloping
haha demand → allows for job
rationing
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2goodpnopat.ie ① Rigid wage → realistic

fluctuations in an employ -
-
ment

↳ fluctuations are large enough .

② Concave production function ⇒
job rationing

←, not all
unemployment is frictional

isunemploymentdoes not vanish if matching
frictions disappear ( recruiting → Oj
job - search effort ⇒ a )

Intel :
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ad to show that if matching frictions disappear , all
unemployment disappears .

① Show that if ,
then 4

→ 0

( recruiting cost)

② Show that if then U -so

( job- search effort )
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Describe the equilibrium when r-s o .
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Laba demand curves :
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Labor demand when r- s o :
→
0
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So unemployment vanishes when recruiting catsvanish →AAunempeoymentisfnvti.com#.Rigid-wagenmodel:-
Laba demand curve : a = ( t T) to .
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( as in the standard model )
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No unemployment when matching frictions vanish
→

all unemployment is frictional .
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E : job. search effort by unemployed workers

. E > o .

( previously : E -
-

l )
total amount of job- search effort : E x Ll

matching function becomes m ( Ex
,

U
,
V )

total search effort .

labor market tightness becomes O=V/ExL
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job-fimdingnak-E.LT#-sfsabadangepdeyflo) : job- finding rate per unit of effort I pen
unit time
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with balanced flows i s x L = U x ⑤ fld

s x L = Ex floe ) x (H - Ld
(s t Ef ) x L = Ex f (o ) x H
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Same properties of LS with respect to 0

LS ( O ,
EE ) = 0
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- Properties of L ' with respect to E
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If people really want jobs, unemployment would vanish
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All unemployment is frictional in standard model
.

There is no lack of job in standard model{ no job rationing
• Model is not consistent withqueuesfwakasin

recessions → standard model does not describe
recessions well ( fails Kuhn 's 1st criterion)
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Moddwithnigidwage what happens when E -so
on →

E-s -
LS
→ H
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Even with riggs : unemployment vanishes
when people search hard enough for jobs →
no lack of jobs ,

' model cannot describe queues
of wakes in bad times j all unemployment is
frictional . Exactly as in the atoll .

⑧
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Assumption concave production function Y -- a. Nd
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Assumption gid wage
W = w .
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Laba supply stays the same MO ) = LIE .
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→
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↳ labor demand curve is in diagram .

↳ labor demand determines employment ) output)

•
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for rationingof .
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In standard model tin rigid - wage model : U → o

when r
- s o : all unemployment is .

Here : It is possible that u so even when r-so .

↳ even when matching frictions vanish
,

( recruiting is free)
firms do not want to hire all wakes

in the lab a face
↳ there is a lack of job in economy

= jobnatimi.mg
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labor demand when 5=0 I when r > o
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MPL of least productive
waken

,
that is the Hlh waken

then we see some johnatiom.my : because some

workers are less productive than they are paid .

~

" classical unemployment
"

c
. unemployment

caused by wagsbeingtooh.gl
Here : when productivity is low enough : job rationing
will appear and UR so .

Job rationing appears
when w at > a a Hd
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for labor productivity below which there is

job rationing -
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but L L H so

→ queues of wakes at factory gates
- s

Great Depression

→
model consistent with existence of queues on
labor market in bad times

→
when E -s t : amount of unemployment =

rationing unemployment HR
-

→
UR so whenever demand is weak enough ⇐
productivity is low enough -

→
Whether E-, s a r -o O : U-
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rationing unemployment :

240) ur = rationingO UF 's frictional
U = OF + UR

equi
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[
recruiting cats = o

due to matching frictions .
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Good times : high labor demand Bad times : low labor demand
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M-atqjbaim.mg . calibrated to match

doggy
recession

US labor market -

→ great
Recession
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